pp. 30-51, #1-10 all, #25-31 all

F1-10 sslve eads literal equation foc .,
®y-3x =13 @ dx+y=7 @ Ay -15x = ~26
+ 3 +3x - “Rx 4 18 +\5x
= |$x-36
y = 13+3x V= 3-dx -%1 -1-5- ra
Y= qx-13
@ 0x+5y = B9 - ~y=45 @é)fx 3y=-6
- 20x ~ 20 -0 -dx ~bx
Gy = 15-20 -\{ 2 Y6 il ~3 = ~bx-b
—5-,\—] —5* '_5—0'(' =T =y -3 :—S_‘ :—?-
y= 8 -Y% N = -45 +4x \/:Q'x+9~
@4«-_5 =_°f+“Y ® lbx +4 <Ay -22 |@ .Q t oy =3+ Y
+2’X +2’X -;Z
LE’X 2 = ’_\_{_ l(6 .
— — x +0 = Qy TR R
g 4 4 = 7 0 Y = 3% 42
X =
i VR y= 5%+ 12
@ 11- Ty = 34fx
=1\ ol
‘ (‘D D -
Y =-% + b
y = 16 -1dx




#25-9%. Selve for fhe indicated vociable

@5 kit P—[é C :&rC.

P-R=-C
=T = =1

C=R-P

Surface Qres of & c\(lmcler: S :Qﬂ(aq— Qﬁrlf\, -Br A

-t - 2nct
- qm? = Jurh
Jnr Zur  dar
- _ S - qme?
‘h me | oF h ane
Pree of trapezod A=-:{ (bt*lo\ af
N
= ——M; - Jg—wa
A = ]/\b‘ *l/\\op,
—L\b| 'L\bl
AR - hby = hby
h h h
__g_"]_ _ 0L \') - QA - l’\b\
bB lﬂ \ * = n




Averase accelecation oF on olyect : O\.E- Vi - Vo for v,
<
at =V, - v,
'*Vo +V0
V, = ab +,

B common Statistic vsed in Protessional hotiall 55 Hhe Quacter bAck
iding. Ths rating is made yf of four mapr fadors. One faclec (s

the complehon (ading quen by the formola R = 6(% -0.3)1

white C is dhe nomber of completed 08sses oad B is the nombe
of attempled Passes. Solve the formula for C,

R=S(%-—0.3> oe Q=5(%—0~?)
B ogeeb b W g ook
K & T - l-S R —A— I
gh = 5C - .54 LA = 10C - 3A
+1.5A +1.5 A + 34 + 3A
Ra +1.54 = 5C QLA +3R/ = 10C
5 5 10 0




. . M'
Nowon's \aw or 9mvihhan s given o the ‘Qrmula F = G(“:{MT&)I
whefe ‘FiS the G’(a between fwo OBJFC{',{ O{: MASSeS M( bnd Mg

G i the gravi tational C°"§f0«f\“'{ and 4 is the distance between
The fwo Objec('S'. Selve the eavation Yor Ml N

M, M,
F=6(2ae)
’52 C? My 2
Fé B -4

Fd?= Gm, m,

GMQ GMQ
_ Fé?

M= o




@ The sde price S (in dollacs) oF an item is given by the

-@ormula S=L-r L/ whee | js 4he list p{{cz (i/\douaf53
md is the Qercent ot discount in decimal Torm.

a; go\\/(, +he R{'Mula f:a[‘ i 2 S = L_— rL_

~1. L
S-L = -r
=] = -1

_ 1 -5
2 T

55 The list price of the shirt is gal.c0,
What 1S e percm% of discount?

L =350 S=1320 (=7

P .-
= | L

_ oy _ 1120
' | A1.50

r=0.4 ot QO/




